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Q. 1. (A) Choose the correct option : (5) [20]

(i) Method adopted in micro economic analysis
(a) Lumping method
(b) Aggregative method
(c) Slicing method
(d) Inclusive method
Options : (1) a, c, d (2) b, c, d

(3) Only c (4) Only a

(ii) Factors which are working in unorganised money
market.
(a) Moneylenders
(b) Commercial bank
(c) Hundi
(d) Chit funds
Options : (1) a, b, c (2) b, c

(3) b, d (4) a, c, d
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(iii) Optional functions of Government.
(a) Protection from external attack
(b) Provision of education and health services
(c) Provision of social security measures
(d) Collection of tax
Options : (1) b, c (2) a, b, c

(3) b, c, d (4) All of the above

(iv) Statements that highlight the significance of index
numbers.
(a) Index numbers are useful for making future

predictions.
(b) Index numbers help in the measurement of

inflation.
(c) Index numbers help to frame suitable policies.
(d) Index numbers can be misused.
Options : (1) b, c, d (2) a, b, c

(3) a, b, d (4) a, c, d

(v) Blood bank is an example of .
(a) Place utility
(b) Knowledge utility
(c) Service utility'
(d) Time utility
Options : (1) a, b, c (2) b, c, d

(3.) a, b, d (4) Onlyd

(5)

(ii)

(iii)

0 | 9 | 0 [ 4

(B) Find the odd word out:
Types of demand ;
Direct demand, Indirect demand, Composite
demand, Market demand.
Features of National Income :
Financial year, Money value, Static concept, Flow
concept.
Types of budget:
Deficit budget, Zero budget, Balanced budget,
Surplus budget.
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(iv) Legal monopoly:
Patent, OPEC, Copyright, Trade mark.

(v) Financial Assets:
Bonds, Land, Govt. Securities, Derivatives.

(C) Give economic term : (5)
(i) More quantity is demanded due to changes in the

favourable factors determining demand other than
price.

(ii) Deposits that are withdrawable on demand.
(iii) Charging different prices to different consumers for

the same product or services.
(iv) Net addition made to total cost by producing one

more unit of output.
(v) Degree of responsiveness of quantity demanded to

change in income only.

(D) Complete the correlation : (5)

(i) General equilibrium : Macro Economics :: | |:
Micro Economics

(ii) Output method : | |:: Income method : Factor
cost method

(iii) Form utility : Furniture :: | |: Doctor

(iv) Perfectly elastic demand : Ed = oo :: | |: Ed = 0

(v) | |: Change in supply :: Other factors constant
: Variation of supply

Q. 2. (A) Identify and explain the following concepts (Any THREE): (6) [12]
(i) Manisha satisfied her want of writing an essay by

using pen and notebook.
(ii) Raghu’s father invested his money in a market for

long term funds both equity and debt raised within
and outside the country.
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(iii) Due to mandatory use of masks during corona
epidemic the demand for mask producing labour
has increased.

(iv) Maharashtra purchased wheat from Punjab.
(v) Jagruti receives monthly pension of? 5,000 from

the state government.

(B) Distinguish between (Any THREE) :
(i) Recurring deposits and Fixed deposits
(ii) Total utility and Marginal utility.
(iii) Perfectly elastic demand and Perfectly inelastic

demand
(iv) Price Index and Quantity Index
(v) Internal debt and External debt

Q. 3. Answer the following (Any THREE) :
(i) Explain any four types of demand.
(ii).  Explain any four problems of capital market in India.
(iii) Explain any four features of utility.
(iv) Explain any four reasons for the growth of public

expenditure.
(v) Explain any four features of macro economics.

Q. 4. State with reasons whether you agree or disagree with
the following statements (Any THREE) :
(i) Over the last 75 years, India’s foreign trade has undergone

a complete change in terms of composition and direction.
(ii) Macro economics is different from micro economics.
(iii) Price maker is the only feature of monopoly market.
(iv) There are many sources of non-tax revenue.
(v) There are many types of index numbers.

0 9 0 4
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Q. 5. Study the following table, figure, passage and answer |8]
the questions given below it (Any TWO) :
(i) Observe the following table and answer the questions

given below it: (4)

Commodities
Prices in 2006

(in?)
(Base Year)

^0

Prices in 2019
(in ?)

(Current Year)

Pl
A 20 30
B 30 45
C 40 60
D . 50 75
E 60 90

Questions:
(1) Write the formula for calculation of price index. (1)
(2) Find the value of EP0 and IP] (1)
(3) Find the price index P01. (2)

(ii) Observe the given diagram and answer the following
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(1) Rightward shift in demand curve......... (0
(2) Leftward shift in demand curve........... (1)
(3) Price remains......... 0)
(4) Increase and decrease in demand comes under....... (1)

(iii) Read the given passage and answer the questions : (4)
In common language the term market means a specific

place where buyers and sellers of a commodity meet and
exchange their goods. But in Economics it is not
necessarily a place but it is an arrangement through which
buyers and sellers come in contact with each other directly
or indirectly and exchange of goods takes place among
them.

Market can be classified on the basis of place, time
and competition. Market on the basis of competition is
perfect competition and imperfect competition. Perfect
competition is an imaginary concept of market and in
reality, we observe various types of imperfect competition
like monopoly, duopoly, oligopoly and monopolistic
competition.

In practice monopolistic competition is used. In this
market there are some features of perfect competition
and monopoly acting together. The uniqueness of this
market lies in the fact that a difference is made between
cost of production and selling cost. Selling cost refers to
the cost incurred by the firm to create more demand for
its product and increase the volume of sale. It includes
expenditure on advertisement, hoardings, window display
etc.

Questions:
(1) Explain the concept of Market from Economic (1)

sense.
(2) Write the classification of Market. (1)
(3) Write your own opinion about selling cost. (2)
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Q. 6. Answer the following questions in detail (Any TWO ) : [16]
(i) Explain the concept of price elasticity with its types.
(ii) Explain the concept of National income and explain the

practical difficulties involved in the measurement of
National income.

(iii) State and explain the law of supply with assumptions.

0 9 0 4 Page 7



day------SEAT NUMBER

(

' 2024 III 07 1500 J-897 (E)

BOOK KEEPING & ACCOUNTANCY (50)

Time : 3 Hrs. (11 Pages) Max. Marks : 80
t J

Q. 1. Attempt all of the following subquestions : |20|

(A) Find the odd one : (5)

(1) Subscribed Capital, Called up Capital, Paid up
Capital, Equity Shares.

(2) Building, Bills Payable, Furniture, Machinery.

(3) Retaining of Bill, Noting of Bill, Discounting of Bill,

Endorsing of Bill.

(4) Audit Fees, Insurance, Medical Expenses, Sundry
Receipts.

(5) General Reserve, Creditors, Investments, Capital.

(B) Do you agree or disagree with the following statements : (5)

(1) ‘Not for Profit’ concerns do not prepare Balance

Sheet.

(2) Current Account always shows a debit balance.

(3) A Bill of Exchange is a conditional order.
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(4) Retiring partner is entitled to share in Reserve Fund
and Accumulated Profit.

(5) On dissolution, Cash or Bank account is closed
automatically.

(C) Select the most appropriate alternative from those given
below and rewrite the statements : (5)

(1) In case of dissolution, assets and liabilities are
transferred to Account.
(a) Bank (b) Partners’ Capital q
(c) Realisation (d) Partners’ Current

(2) In the absence of an agreement, interest on loan
advance by the partner to the firm is allowed at the
rate of.
(a) 5% (b) 6%
(c) 10% (d) 9%

(3) If an asset is taken over by the partner,  account
is debited. '
(a) Revaluation (b) Capital
(c) Asset (d) Balance Sheet Q

(4) The balance of Capital Account of a retired partner is
transferred to his Account, if it is not paid.
(a) Loan (b) Personal
(c) Current (d) Son’s

(5) Income and Expenditure Account is a Account.
(a) Capital (b) Real
(c) Personal (d) Nominal
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(D) Write a word / term I phrase as a substitute for each of the
following statements : (5)

(1) Tally software is classified into this category.

• (2) Partnership Agreement in written form.

(3) An asset which can be converted into cash immediately.

(4) A person who represents the deceased partner.

(5) The debit balance of Income and Expenditure
Account.

Q. 2. Seeta and Geeta share profits and losses in the ratio of [10]
3 : 2 in Partnership Firm. Their Balance Sheet as on 31st
March, 2020 was as under :

Balance Sheet as on 31st March, 2020

Liabilities Amount
(?)

Assets Amount
(?)

Capitals : Bank 11,250

Seeta 22,500 Bills Receivable 5,700

Geeta 18,000 40,500 Debtors 31,200
Creditors

18,750 (-)R.D.D. 1,200 30,000

Bills payable 15,000 Stock 18,000

Bank Loan 24,000 Furniture 7,050

General Reserve 3,750 Machinery 7,500

Building 22,500

1,02,000 - 1,02,000
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On 1st April, 2020 they admitted Reeta on the following

terms :
(1) For half (A) share in future profit Reeta should bring ?

15,000 as capital and ? 7,500 for goodwill in cash.

(2) Furniture should be appreciated up to ? 8,025 and building

be appreciated by 20%.
(3) R.D.D. is to be maintained at T 1,500.

(4) The stock is to be reduced by 10% and machinery
depreciated by 5%.

(5) Half of amount of goodwill is withdrawn by old partners.

Pass the necessary Journal Entries in the books of the firm.
OR

The balance sheet of Shivshakti Traders, Mumbai is as
follows. Partners share profit and losses as 5 : 2 : 3.

Balance Sheet as on 31st March, 2020

Liabilities Amount
(?)

Assets Amount
(?)

Creditors 30,000 Bank 18,600

Bills payable 1,800 Debtors 25,200
~ A

General Reserve 21,000 (-) R.D.D. 1,200 24,000

Capital Accounts : Stock 30,600

Raj 54,000 Building 60,000

Rahul 48,000 Plant and Machinery 48,000

Nitin 26,400

1,81,200 1,81,200
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Rahul retired from the business on 1st April, 2020 on the
following terms :

(1) The assets were revalued as under :
(i) Plant and Machinery is to be depreciated by 10%.
(ii) R.D.D. is to be increased upto ? 1,500.
(iii) Building is appreciated by 10%.
(iv) Stock at ? 42,000.

(2) The goodwill of retiring partner is valued at ? 12,000 and
the remaining partners decided that goodwill be written
back in their new profit sharing ratio which will be 5 : 3.

® (3) Amount due to Rahul at the time of retirement is to be

transferred to his loan account.

Prepare : (a) Profit and Loss Adjustment Account
(b) Partners’ Capital Account
(c) Balance Sheet of the New firm.

Q. 3. Lal, Bal and Pal were partners sharing profits and losses in the [10|
ratio of 2 : 2 : 1. The following is the Balance Sheet as on 31 st
March, 2020.

Balance Sheet as on 31st March, 2020

Liabilities Amount
(?)

Assets Amount
(?)

Amount
(?)

Capital Accounts : Machinery 50,000

Lal 60,000 Investment 24,000

Bal 20,000 Debtors 55,000

Pal 20,000 (-) R.D.D. 3,000 52,000

General reserve 6,000 Stock . 20,000

Creditors 48,000 Profit and Loss A/c 18,000

Bills payable 14,000 Bank 4,000

1,68,000 1,68,000
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On the above date the partners decided to dissolve the firm.

(1) Assets were realised as under r
Machinery
Stock

? 45,000
T 18,000

Investment ? 21,000
Debtors ? 45,000

(2) Dissolution expenses were ? 3,000.

(3) Goodwill of the firm realised ? 24,000.

Prepare :
(a) Realisation Account ’
(b) Partners’ Capital Account
(c) Bank Account

OR

Journalise the following transactions in the books of

Mr. Arvind.

(A) Bank informed that Sam’s acceptance for ? 30,000 sent to
bank for collection has been honoured and bank charges
debited ? 200.

(B) Arun informed Arvind that Neena’s acceptance for
? 25,000 endorsed to Arun has been dishonoured. Noting
charges paid by Aruri amounted to ? 400.

(C) Bank informed that Jay’s acceptance of? 35,000 which
was discounted with bank was dishonoured, bank paid
noting charges ? 500.

(D) Arvind sold goods to Sagar for T 20,000 on credit and drew
a bill for two months on Sagar for the same amount.
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(E) Neeta retired her acceptance to Arvind of ? 16,500 by
paying cash? 16,000.

Q. 4. Mohini Company Limited issued 25,000 equity shares of [8]
? 100 each payable as follows :

On application ? 20
On allotment ? 30
On first call ? 20

On second and final call ? 30

Applications were received for 22,000 equity shares and
9 allotment of shares were made to them. *

All money received by the company. •

Pass Journal Entries in the books of Mohini Co. Ltd.

OR

Write the features of Computerized Accounting System.

Q. 5. Suresh, Naresh and Paresh were equal partners. On 31sl March, [8]
2019 their Balance Sheet was as follows :

Balance Sheet as on 31st March, 2019

Liabilities Amount
(?)

Assets Amount
(?)

Capital Accounts : Land and Building 2,00,000

Suresh 2,50,000 Furniture 1,50,000

Naresh • 1,00,000 Debtors 1,50,000

Paresh 1,00,000 Cash 1,00,000

Sundry creditors 1,50,000

6,00,000 6,00,000
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Suresh died on 30lh June, 2019 and the following

adjustments were agreed as :
(1) Furniture was to be adjusted to its market price

? 1,70,000.
(2) Land and building was to be depreciated by 1Q /6.

(3) Provide R.D.D. at 5% on debtors.
(4) The profit up to the date of death of Suresh is to be

calculated on the basis of average profit of last yeai which

was ? 90,000.
Prepare:  . '

(a) Profit and loss adjustment account.
(b) Partners’ capital account.
(c) Balance sheet of the continuing firm.

OR
Convert following Trading and Profit and Loss Account

into Vertical Income Statement:
Trading and Profit and Loss Account

Dr. (for the year ended 31st March, 2020) Cr.

/

Particulars Amount
(?)

Particulars
Amount

(?)
To Opening Stock
To Purchases
To Carriage
To Direct expenses
To Wages
To Gross Profit c/d

50,000
4,50,000

20,000
30,000
50,000

1,50,000

By Sales
By Closing stock

6,00,000
1,50,000

Total 7,50,000 ' 7,50,000
To Office expenses
To Finance expenses
To Selling expenses
To Net profit c/d

62,500
15,000
50,000
22,500

By Gross profit b/d 1,50,000

Total 1,50,000 1,50,000
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Q. 6. Dr. Anish Korgaonkar started practice of Medical Practioner on [12]
Ist April, 2019. He gives you the Receipts and Payments Account
for the year ended 31st March, 2020 and the adjustments.

Prepare Income and Expenditure Account for the year ended
31st March, 2020 and Balance Sheet as on that date :

Dr. Anish Korgaonkar
Receipts and Payments Account

Dr. for the year ended 31st March, 2020 Cr.

Receipts Amount
(?)

Payments
Amount

(?)

To Cash introduced 50,000 By Furniture 16,000

To Visit fees 20,000 By Equipment 20,000

To Receipts from By Drugs 14,000

dispensary 60,000 By Salaries 24,000

To Sundry receipts 10,000 By Rent 12,000

By Conveyance 8,000

By Stationery 1,000

By Electrical charges 10,000

By Journals 1,000

By Drawings 30,000

By Balance c/d . 4,000

1,40,000 1,40,000
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Additional information :
(I)-  Receipts in arrears are visit fees ? 4,000 and dispensary

1,000
(2) Outstanding expenses - Rent ? 1,000 and Salaiies

T 2,000.

(3) Stock of drugs ? 2,000
(4) Depreciate furniture @ 8% p.a. and equipment ? 1,000.

(5) 40% of the conveyance expenses are for domestic use.

Q. 7. Mama and Kaka are partners in partnership firm sharing profits [ 12]
and losses equally. You are required to prepare Profit and Loss
Account for the year ended 31st March, 2019 and Balance
Sheet as on that date:

Trial Balance as on 31st March, 2019

Debit Balances
Amount

(?)
Credit Balances

Amount

(?)

Insurance 30,000 Capital Accounts :

Land and Building Mama 1,00,000

(Addition of? 40,000 Kaka 1,00,000

w.e.f. 1st July, 2018) - 1,00,000 10% Bank loan

Salaries 10,000 (taken on

Export duty 5,000 1st Oct.,2018) ■ 60,000

Interest 2,000 Interest 3,000

Furniture ’ 80,000 Bills payable 16,000

Debtors 52,000

2,79,000 2,79,000
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Adjustments :

(1) Gross profit amounted to ? 69,000.

(2) Prepaid insurance ? 7,500.

(3) Depreciate Land and Building at 10% p.a. and Furniture at
5% p.a.

(4) Write off? 2,000 for bad debts and maintain R.D.D. at 5%
on sundry debtors.

(5) Closing stock is valued at ? 69,000.
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Note : (i) All questions are compulsory.

(ii) Figures to the right indicate full marks for the questions.

(Hi) Figures to the left indicate question numbers.

(iv) Answer to every question must be started on a new page.

Q. 1. (A) Select the correct options and rewrite the sentences :

(1) was regarded as the father of scientific-

management.

(a) Henry Fayol ,

(b) F.W. Taylor

(c) Philip Kotler

(2) Start-up India is an initiative of the 

(a) RBI

(b) Government of India

(c) World Bank

0 Q
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(3) Door to door service is provided by -------- transport.

(a) Railway
(b) Air
(c) Road .

(4) For economic growth and National Security —----

stability is required
(a) Political
(b) Social
(c) Economic

(5). In India the Consumer Protection Act was initiated in

the year_____
(a) 1947
(b) 1989
(c) 1986

(B) Match the correct pairs : (5)

Group ‘A’ Group ‘B’

(a)

(b)

Principle of Unity of (1) Right to information

direction (2) Last function of
Planning Management

(c) Warehousing (3) Distinct Name

(d) Consumer Right (4) One head one plan

(e) Registered brands (5) Seller
(6) Basic function of

management
(7) Time Utility

(8) General guidelines
(9) Trademark

(10) Place Utility
r
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(C) State whether the following statements are true or false : (5)

(1) Co-operation is not necessary for smooth flow of

organizational activities.

(2) Current Account is opened by salaried persons.

(3) ‘ With the help of outsourcing company we can focus

on the core areas.

(4) The seller has to recognize the rights of consumer.

(5) The term market is derived from the Latin word

“mercatus.” 

(D) Find the odd one : * (5)

(1) Selecting, training, co-ordinating, placing.

(2) NABARD, RBI, SIDBI, EXIM

(3) Debit card, Credit card, Aadhar card, ATM card

(4) Job security, Health and safety measures, Good

working condition, Reasonable profit.

(5) .Price, People, Promotion, Product.

Q. 2. Explain the following terms / concepts (Any FOUR) : (8]

(1) Principle of Discipline

(2) Communication

(3) Business ethics
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(4) Corporate Social Responsibility (CSR)

(5) Right to choose

(6) Market

16]

organization.

Organising

(ii) Directing

Co-ordinating

0 8 2 8

Mention the name of employee engaged in following

functions:

Q. 3. Study the following case / situation and express your opinion

(Any TWO) :

(1) In XYZ company, Mr. Lele gives instructions to the

employees working under him, provides guidance and

motivates them for their best performance. On the other

hand Mr. Sayyad takes effort to harmonize the work done

by the employees of different departments while achieving

organizational goals. Mr. Desai is looking after the

arrangement of required resources to the business 

(2) Mr. Ashok visited a shop to buy a pair of shoes of ^700.

The salesman forced him to buy a pair of bigger size shoes

of ordinary company by claiming this size would be suitable 
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to him. After reaching home, he discovered that shoes are

still too big for him. He complained about the shoes to the

shopkeeper. It was denied by the shopkeeper to replace the

shoes despite of availability of stock.

In above case:-

(i) Which right has been violated?*

(ii) Is Mr. Ashok a buyer or an ultimate consumer?

(iii) Where can Mr. Ashok file his complaint?

(3) Mr. A deals in import and export business so he needs

different foreign currencies. For the expansion of his

business, he borrows money from commercial bank. He

invests his funds in the equity shares.

(i) From where does Mr. A borrow money?

(ii) Name the market where does Mr. A invest his

funds.

(iii) Which type of currency is required for

international market?

Q. 4. Distinguish Between the following (Any THREE) :

(1) Directing and Co-ordinating.

(2) Road transport and Rail transport
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(3) Bonded warehouse and Duty paid warehouse.

(4) District commission and State commission.

Q. 5. Answer in brief (Any TWO) :

(1) ' Explain any four principles of management of Henry Fayol.

(2) Explain any four characteristics of an entrepreneur.

(3) Explain advantages of Business Process Outsourcing (BPO).

Q. 6. Justify the following statements (Any TWO) :

(1) Management principles are helpful in optimum utilization of

resources.

(2) It is easy to set up E-business as compared to traditional

business.
£

(3) Business should allow participation of workers in management.

(4) There is a need of branding to get recognition among the

consumers.

Q. 7. Answer the following (Any TWO) :

(1) Explain the importance of planning.

(2) Explain E-banking service.

(3) Explain rights of consumers.
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Q. 8. What is insurance? Explain types of life insurance policies. [8 ]

OR

What is Marketing Mix? Explain 7Ps of Marketing Mix.
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SEAT NUMBER

All questions are compulsory.
Figures to the right indicate full marks for the questions.

Note: (1)
(2)

DAY-------

/

2024 II 28 1100 J-841

RACTICE (5

is) Max.

(E)

SECRETARIAL?

Time : 3 Hrs. (4 Pagi

2)

Marks : 80

(3) Figures to the left indicate question numbers.
(4) Answer to every question must be started on a new page.

Q. 1. (A) Select the correct answer from the options given below [20]
and rewrite the sentences: • (5)

(I) Finance is the management of affairs of the
company.
(a) monetary (b) marketing (c) production

(2) Company can accept deposits from public, minimum
for months.
(a) nine (b)six (c) twelve

(3) A company can issue convertible debentures.
(a) only partly (b) only fully
(c) partly or fully

(4) Debenture capital is a capital of a company.
(a) borrowed (b) owned (c) permanent

(5) is a return paid to creditors by the company.
(a) Dividend (b) Interest (c) Rent
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(B) Match the pairs : (5)

Group ‘A’ Group ‘B’

(a) Capital budgeting (1) Unsecured Debenture

(b) Regret Letter (2) 1956
(c) Board of Directors (3) Investment decision

(d) Depository Act (4) Allotment of shares

(e) Final Dividend (5) Decided and declared by
Board of Directors

(6) Financing decision
(7) Decided by Board and

declared by members
(8) 1996
(9) Power to issue debenturesX
(10) Non-Allotment of shares

(Q Find the odd one : (5)
(1) Debenture, Public Deposit, Retained earnings
(2) Bonus shares, Rights shares, Employees Stock Option

Scheme (ESOS)
(3) Private company, Non-Eligible public company,

Government company
(4) Depository, D.P., RBI
(5) Private Placement, Commercial Paper, Further Public

Offer (FPO)

(D) Correct the underlined words and rewrite the following
sentences: (5)
(1) Owned capital is temporary capital.
(2) FPO refers to offering of shares to the public for the

first time.

n

(3) Dividend is recommended by shareholders.
(4) Deposit is a long term source of capital.
(5) A stock market is an important constituent of money

market.
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Q. 2. Explain the following terms / concepts (Any FOUR) : [81
(1) Fixed capital
(2) Borrowed capital
(3) Bonus shares
(4) Depository system
(5) Secondary market
(6) Stock Exchange ’

Q. 3; Study the following case I situation and express your
opinion (Any TWO) :
(1) Violet Ltd. company plans to raise ?10 crores by issuing

debentures. The Board of Directors have some queries.
Please advise them on the following :
(a) Can they issue convertible debentures?
(b) As the company is offering debentures to its members,

can such debentures have normal voting rights?
(c) Capital raised by issuing debentures will be Owned

Capital or Borrowed Capital?
(2) Mr. Satish holds 100 shares of Raj Company Ltd. in physical

mode and wishes to convert the same into electronic mode:
(a) Mr. Satish holds a Savings Bank Account with SBI.

Can he deposit his shares in this account for demat?
(b) What type of account is needed for the same?
(c) Is it the RBI which will be the custodian of shares of

Mr. Satish after demating?
(3) GOLD Co. Ltd. declares a dividend of ?10/- per share for

F.Y. 2019-2020:
(a) Is company under default, if dividend was not paid

within 30 days of its declaration?
(b) Is company right in transferring the unpaid dividend to

its Debenture Reserve Account?
(c) Does the company have to transfer the amount of

unpaid dividend to IEPF after 30 days?
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Q- 4. Distinguish between the following (Any THREE) :
(1) Fixed capital and Working capital
(2) Rights shares and Bonus shares
(3) Dematerialization and Rematerialization
(4) Dividend and Interest

Q. 5. Answer in brief (Any TWO) :
(1) Explain Employee Stock Option Scheme.
(2) State any four terms and conditions regarding acceptance

of deposits.
(3) Explain the features of Interim Dividend.

Q. 6. Justify the following statements (Any TWO) :
(1) Bond holder is creditor of the company.
(2) A company has to create charge on its assets for issuing

secured debentures.
(3) Capital market is useful for corporate sector.
(4) Stock exchange works for the growth of the Indian

Economy.

Q. 7. Attempt the following (Any TWO) :
(1) Write a letter to the member for the payment of dividend

through Dividend Warrant.
(2) Write a letter to the debenture holder regarding payment of

interest electronically.
(3) Write a letter to depositor regarding renewal of his deposit.

Q. 8. Answer the following questions (Any ONE) :
(1) What are Preference Shares? Explain its types in detail.
(2) Explain the provisions of Companies Act, 2013 for issue of

debentures.

0 8 4 1
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MATHEMATICS & STATISTICS (88)
(COMMERCE)

Time : 3 Hrs. (12 Pages) Max. Marks : 80

General Instructions :

(i) All questions are compulsory.

(ii) There are 6 questions divided into two sections.

(Hi) Write answers of Section-I and Section-II in the same
answer book.

(iv) Use of logarithmic tables is allowed. Use of calculator is
not allowed.

(v) For L.P.P. graph paper is not necessary. Only rough sketch
of graph is expected.

(vi) Start answer to each question on a new page.

(vii) For each multiple choice type of question, it is mandatory
to write the correct answer along with its alphabetical
letter eg. (a) ................./(b) ...../(c) /
(d) . No mark(s) shall be given if “ONLY” the
correct answer or the alphabet of the correct answer is
written. Only the first attempt will be considered for
evaluation.
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SECTION - I
Q. 1. (A) Select and write the correct answer of the fol lowing multiple [12]

choice type of questions (1 mark each): (6)

(i) Which of the following is not a statement?
(a) Smoking is injurious to health
(b) 2 + 2 = 4
(c) 2 is the only even prime number
(d) Come here

(ii) If x + y + z = 3, x + 2y + 3z = 4, x + 4y + 9z - 6 then
0, z) =■
(a) (-1,0)
(c) (1,-1)

(b) (1,0)
(d) (-1,1)

 

 
(C)

0 8 6 6

C dx(iv) The value of I  is .
J d\-x

(a) 2>/i^x + c (b) -2V1-7x + c

(c) Vx + c (d) x + c

dx
(x-8)(x+7)



(B)
(3)

(i)
aa

State whether the following statements are true or false
(1 mark each) :

b b
I /(*)  dx = I f(f)dt

(vi) The differential equation of y = kyex + k2e x is :

d2y
(a) —~y=o

ax

d^y dy
<c)

d2y dy
(b) -T + T- = 0dx2 dx

d2y
(d) ~i+y=v

dx^

(ii)

(iii) Order and degree of a differential equation are
always positive integers.

(C) Fill in the following blanks (1 mark, each): (3)

(i) The slope of tangent at any point (a, b) is called as

I X — 1 r r 7
For --------dx = e /(x) + c’/(x) = (x + 1)

j (x+ir

(ii) If f'(x) = — + x and /'(!) = — then /(x) = logx +
x 2

2 --------

(iii) A solution of differential equation which can be
obtained from the general solution by giving particular
values to the arbitrary constants is called  
solution.
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Q. 2. (A) Attempt any TWO of the following questions (3 marks
each):
(i) Examine whether the following statement pattern is

tautology, a contradiction or a contingency.

~ p -> (p q)

(ii) Find — if, x = e3z,y = e^4z+5^

(iii) B = then find AT + 4BT0
-2 ’

0-2 3
2 1 -4

7 3
0 4

(B) Attempt any TWO of the following questions (4 marks
each):
(i) Consider the following statements

(a) If D is dog, then D is very good.
(b) If D is very good, then D is dog.
(c) If D is not very good, then D is not a dog.
(d) If D is not a dog, then D is not very good.
Identify the pairs of statements having the same
meaning. Justify.

(ii) Determine the minimum value of the function :

/(x) = 2x3-21x2+36x-20 •

(iii) Find the area of the regions bounded by the line
y = -2x, the X-axis and the lines x = -1 and x = 2.

Q. 3. (A) Attempt any TWO of the following questions (3 marks each):

dy
(i) Find-7- if y = x

■ dx*

(ii) If/'(x) = 4x -3x2 + 2x + £, /(0) = l and/(I) = 4,3

find /(x).

(iii) Obtain the differential equation whose general solution
• 3 3is x + y = 35ax

0 oe 6 6 Page 4
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(B) Attempt any ONE of the following questions (4 marks each): (4)

(•)
3 1 5

Find the inverse of 2 7 8
1 2 5

by adjoint method.

0

0

(ii) The consumption expenditure Ec of a person with

income x, is given by Ec = 0.0006x2 + 0.003.x - Find
average propensity to consume (APC), marginal
propensity to consume (MPC) when his income is
? 200. Also find his marginal propensity to save (MPS).

(C) Attempt any ONE of the following questions (Activity)
(4 marks each): (4)

(i) Complete the following activity :

'20 + 4717'
^20-4717,

(ii) The rate of growth of population is proportional to the
number of inhabitants. If the population doubles in 25 years
and the present population is. 1,00,000, when will the city
have population 4,00,000?
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c =

log = kt
1,00,000

dP
dt

Solution : Let 'P be the population at time 7’.
Since rate of growth of population is proportional to the
no. of inhabitants:

When f = 0,P = 1,00,000
from (i)
log 1,00,000 =£(0) + c

dP 1D.
Differential equation can be written as — — Kr

where k is constant of proportionality.
dP 1 ■
— -k’dt

On integrating we get

= kt + c

(ii) When r = 25, P = 2,00,000
as population doubles in 25 years

from (ii) log 2 = 25£

k —

( P } ( [ >
log ----------- = —log 2 t

{[,00,000] {15 )

(iii) when P- 4,00,000

log
'4,00,000"
J,00,000, =U10g2r
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t- years

log 4= — log2 -r
<22) J

SECTION - II
Q. 4. (A) Select and write the correct answer ofthe following multiple • [12]

choice type of questions (1 mark each): (6)

(i) The difference between face value and present worth
is called.
(a) Banker's discount
(b) True discount
(c) Banker's gain
(d) Cash value

(ii) In an ordinary annuity, payments or receipts occur at

(a) beginning of each period

(b) end of each period
(c) mid of each period
(d) quarterly basis

(iii) bxy and byx are.

(a) Independent of change of origin and scale
(b) Independent of change of origin but not of scale
(c) Independent of change of scale but not of origin

(d) Affected by change of origin and scale
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(iv) Dorbish-Bowley's Price Index Number is given by

■ (a) ±Wl—5Wo.xiOO
2

SP1<71 , Spp<7o
(b) xl0Q

Spi<?0 ! £Wl

(c) -^xioo q,
2

SpO<7o | Sp0«?i
(d) £p|l?lXIOO

2 \
(v) Objective function of L.P.P. is ■

(a) a constraint
(b) a function to be maximised or minimised
(c) a relation between the decision variables
(d) a feasible region

(vi) To use the Hungarian method, a profit maximization
assignment problem requires.
(a) Converting all profits to opportunity losses
(b) A dummy person or job
(c) Matrix expansion
(d) Finding the maximum number, of lines to cover

all the zeros in the reduced matrix.

(B) State whether the following statements are true or false (3)
(1 mark each):

(i) Broker is an agent who gives a guarantee to seller that
the buyer will pay the selling price of goods.

Page 8



00 x 100 is the Value Index Number by simple

aggregate method.

(iii) The optimum value of the objective function of L.P.P.
occurs at the center of the feasible region.

(C) Fill in the blanks (1 mark each): . (3)
(i) The banker's discount is always than the true

discount.

(ii).  The cost of living index numberusi.ng Weighted Relative
Method is given by.

(iii) The time interval between starting the first job and
completing the last job including the idle time (if any)
in a particular order by the given set of machines is
called.

Q. 5. (A) Attempt any TWO ofthe following questions (3 marks each): (6) |14|

(i) Deepak's salary was increased from ? 4,000 to ? 5,000.
The sales being the same, due to reduction in the rate
of commission from 3% to 2%, his income remains
unchanged. Find his sales.

(ii) For a bivariate data, the regression co-efficient of Y on
X is 0.4 and the regression co-efficient of X on Y is 0.9.
Find the value of variance of Y if variance of X is 9.

(iii) The following table shows the index of industrial
production for the period from 1976 to 1985, using
the year 1976 as the base year. Obtain the trend values
for the following data using 4 yearly centered moving
averages :

Years 1976 1977 1978 1979 1980 1981 1982 1983 1984 1985
Index 0 2 3 . 3 2 4 5 6 7 10
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(B) Attempt any TWO of the following questions (4 marks each): (8)
(i) If for the following data, Walsh's Price Index Number

is 150, find 'x':

Commodity Base Year Current Year
Price

Po

Quantity

?0

Price

Pl

Quantity

A 5 3 10 3
B X 4 16 9
C 15 5 23 . 5
D 10 2 26 8

(ii) A toy manufacturing company produces five types of
toys. Each toy has to go through three machines A, B
and C in the order ABC. The time required in hours
for each process is given in the following table :

Type 1 2 3 4 5
Machine 16 20 12 14 22
Machine B 10 12 4 6 8
Machine C 8 18 16 12 10

Find the total elapsed time and also find idle time for
machine B.

(iii) A random variable X has the following probability
distribution:

Find (a) k (b) P(X < 3) (c) P(X > 6)

X 1 2 3 4 5 6 7

P(x) k 2k 2k 3k 2^ 11^+k

Q. 6. (A) Attempt any TWO of the following questions (3 marks each): (6) [ 14 ]
(i) The building is insured for 75% of its value. The annual

premium at 0.70 percent amounts to ? 2,625. If the
building is damaged to the extent of 60% due to fire,
how much can be claimed under the policy?

0 8 6 6 Page 10



(ii) Three new machines , A/2, are to be installed in
a machine shop. There are four vacant places A, B, C,
D. Due to limited space, machine AY2 can not be placed
at B. The cost matrix (in hundred ?) is as follows :

Machine Places
A B C D

M] 13 10 12 11
m2 15 — 13 20
m3 5 7 10 6

Determine the optimum assignment schedule and find
the minimum cost.

(iii) The eggs are drawn successively with replacement from
a lot containing 10% defective eggs. Find the
probability that there is at least one defective egg in the
lot of 10 eggs.

(B) Attempt any ONE of the following questions (4 marks each): (4)

(i) Following table shows the all India infant mortality rates
• (per'000) for years 1980 to 2010 : . -

Year 1980 1985 1990 1995 2000 2005 2010
IMR 10 7 5 4 3 1 0

Fit the trend line to the above data by the method of
least squares.

(ii) Minimize: z = 6x + 2y
Subject to: x + 2_y>3,

x+4_y>4,
3x + y> 3,
x > 0, y > 0

0 Q
C
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(4)

r-12 = 0.6x-

When x = 5

K-12 = (5-10)

y-!2 = -4

(ii)

e

m -

0 8 6 6

If X ~ P(rn) with P(X = 1) = P(X = 2) then find the
mean and P(X = 2).

(C) Attempt any ONE of the following questions (Activity)
(4 marks each):

Given e 2 = 0.1353

Solution : Since P(X = 1) = P(X = 2)

y-12 = r-^-(^-10)
CL

Fora bivariate data x- 10, y = 12, K(2f) = 9, oy = 4

and r = 0.6
Estimate j/ when x - 5
Solution : Line of regression of Y on X is

r-y = | l(AT-x) 

—w _ e n>m2
TF

e’2-22
•. P(X = 2) = ^-

4
=^(X-10)
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fu f uftn trf an#. arrqft 41 u aft twit artful nut w

ffni’iAA 3Trt. «r^t, wft, wt arf 14lcn-cis6' Turw amf.

wn funRHiA uft krm, twi wr wft T^rot. 4t Rhi<i'41

nut ara?t. wt wr k?ti wa wra ft wftnr uiw tot

. Udt ft 3TWRft Wf. 3TOTW 4H-TO fURRUR '^IKI'id!

anwf. WWfl WMAA 3RRTRT. UWU W W> *̂ uldU

aRUKIod KU fw UKKTK. RTft UdtTOrt 3PltW W.

aftW UTRURt STlff «RRWt WU Mlfccft WR anwt

wf. ft wft wk? anuft wt anf&r wnrrat? ^ii^iTui

$(d5H MSdl. utdil’al ■SFTWUft 4RfT: W 3WSH T^ft 3R<Sla5
 

W. 3iW UFJJfT WqH KW 3M, W^W

3WK ft4f. 4cs Kter sraKf. R5i4 wk 3wnn. wit wf ft ktkkh

Kef Klftu, 4tcHK ^ifelHI fRWkdd ant. yuifl uraK5HT elqildl,

3ilH<A cbNkdK KfFTf dlcfrlcfl, Kl'Jjyil RR ^cHOHI JdU!

uft WIchikI ft frss' rtuur wft? wkwt wft? ^wt nut

ft ■EEnfru RTRif. rwkpt uft ft to snf; w srrfpt, stkruk

STifn aunroro? nft ft TTSF7 fepfut ajlf. 3TTWt UKRTRT UR

Misifla, n°rsT fu ftroror srw. arfro? fu asaw

3JTUU ^'Uiieii KJRtU. ft aikHMId*]  wit.

(?) WTWfUWRTt- (y)

'rut mhi'ji ’nftftwr anf’- f Iruh gu-oqi ^i^ia urzurt.

RAki

WU URTTO 3RRTHT chluial =t>lcafl wft, f UfWR foTKI.

(an) Tarotuf wfuw anuR ^-cA^k ^Rft w : (4)

(?) wn ^wt wkt wwn fM jwrkr - (?)(x)

W 

(T) ........................
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(?) $<sMI qidiaas^-fl <A<sl«bl-=n aft : (?)

(a) .... ...... ..............

(T) ...........................

ata goidtfl <rllJloll, aftat qooiMiqd (ting'll

qidl<?ll ’tJo5 areft % W at CjfelWcni WTHT W. RT?n

aia fttan goi'Mcil tripled! ftw a? ar^ft wata wnt, aft anw

aww« qw*Td  qiRo)A araift faa anftn » awt

ara ata w w arean arfH. wn awn tj® aqa

... ai^i«R@iT asaw anfq an fti^ira aita
ii ^-Haar Mitera. Hield<amta ata^aaw wtan

aw? mcii<nl gid eiiqq HiR^i-iai^i <^10A =b<ia<dl

arwn, at aw aia wft wft wt awn wrot

w^fqa^n w arat! at, t ^wt aft ?n§, a?53 3^? 3ft

arft. awaar *41-^1  midM fwftrarwT awr an^wtwr

Hi^ai ataiw qodi?il <gid aawn atad"! snftnat wtanjaaa

w wfta areal arft wrara, aft farer a«r faaanft w

irfr wrw war wna fftrena. ara at araaaft areta

wrerwaT arerar. arfaftfaa?n arqRRqRRaawpt'gWRi

_ . aiaaatawwTwawRsfaawwatat? awanftnataa
B

reire areft 3 ara aiadld. ataft aat q-sa^ *<d  id.

(3) reaaariaaaat: (*)

<fto=bift ■gwn an rat qaai aiancsfaans asreRft 3><3dl ant,

aiaiaa^rftRafaai.

faw

aid^yt^n aw-oaat qwn araia feat.
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(?) TsiHid: ("*  )

(?) iSIIOlld ^'Wdl ■'jyf =ti<l :,

ftnf^n wuh 3mi n <nwt m <n®i<cbi=h^jT -

W | —|

W I "~"~1

TFEte «jt?T 3RntdRT WWI WI Wtt 3WTRT. ftnf>R

VI<=Hld 3T^ d qu|*l  ?t Mtwld ’Wt n^H mid 3fst

RHdld. *lte<HI<iH  do35Jl*4  3nn «||UlT=qi dHlH-n ?H«K*in

■^nntagnnnnTen.

W dHfnnW npf 3TWd it W nPT 3Tlt,

qinii <hiqcdld nt qidtfl'H. nw-B-ucsodd i|uiKHuft 3mnnnt

WFp nra %^n. -jnsHf^T fmdi nw nft it n

WHl Mdftdn ^d=bl nRfnjT ^mt wt. dll^NRJH nt

^nm 3iFkicq ^iuKd4. nrn^rw wjHmrRT’dn

wth dn^ ^?nn. nn lioddid. ■jd *l*tddid.  nn nt Tjm

tndtfnn ntnm. fado^! 'niwn?jd R'i=hid.

SnMIcdl-oqi, Hcfdl-nqi, fe<oq| *tdld|-o4|  ■qd* ull'<ll nf^dII ^>dc<5

<?hid fedldO njnt n^id npjnntdTd. ^hi didd nr swft

■gd fanul 'Mdiqld, wft ^Iddldld mid*4  niul|c(, TR mHT

'siddid n M^didi mr. ■

(?) ndntfwT. (^)

armni yd hi ^wm n n^nm? mid, wn -

(^) .........................

(I) .........................
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fen-JF! ? -

(O

uyawl

w wr ’’Tn^M) ^Kdl’-oqi

eft rtw w?fi ^icfiioa); (m'^kActU ^ret, f^r.

gd^mul WT SRIcfr
<MRltdI“41 -H-^1 erMIC4<1 Qd *dd  14)^,

^rra wm Td ’th wn

SJlf&T cMI-41 c4l<ril =berM'll’cl -lisl.

■HHSl^ll •slodilid 8lchotlM' 3TT'HTc5 deRd ^d

snfq ftrgg eft =iaWT

^HHdT’oMI <«qieR
WI, qyfl ’dl*.

3Rcra«I^SH ^TTcft

^I5<|-oq| fa-duA.

^>1 eft Hdl'dirMl H’lidd ytd qI^H ft^t eriPldt

^I$<lder4l «r4ld^d,

<jfei<iM4d iraf eft «W^cn 3tWt
^Mc«<r4|| <mi*| ck ^.*1*1,  tiHk-oqi

TIt?d,

^?ft ?. (3T) ^icD<h cFrfg^arr an^^Emprr^Kit^rt :

oFTf^t f?T57 -

(z[) Rrg^sR^rfrat, w^n

(r) Bg^ftryp^neft, ^ftw...................

4t*'jt  gyf rrt -

[^]

(6)

G)

(^)
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(X)

0 8 0 9

$ Id NX Bp ST^faiedl -SlaRJHl.

cm loll 37lcNd cdl^l-d tdl<l

FFT H/p ditdt txdd H<sll< pl,

vdlt <MledHul ti^HdTedl d|cbl4,dS,

3nf&T Twft ?o ■‘frer'di awtr d^idl.

FHHBeFrp

3Tfe W 3TXTBET14 aid del d, WdH

t? tr^Hedr pnxTTxri,

. pftt cf^ft pH tdTXT FT H-HK XRTTXTH

’HaPTT BTH 3T^ftT3T WTfePt

(^) TsUdld^ ch>ldl^l Tprprftxfte^T:

W^Txffdt :

xpft WTT XTFH tr W ^n^T!

^■f^TTR’THWWil!

■^Nr 75nt cb’^dJ pJT XUdedl 3TTFFT 'jt;

tt -3T5TT ^5t WTeft ?iJT ^TNW^TPT p3T! '

3?lodl‘dld wrfkt 'PT’B ^XT,

■qnrwftpttt.

cd lei i dilodtl diet XT |-d ltd I'd dlel4uil'dl

ddw>itdi ^igxiald.

(?) aWzBRft : (*)

■^TgXfrfteT dledld'lrtaTT dlddlt ^H^l ^l«Tld t tddi 'dTXT.

(3TT)X3Ten?T ttttT 3T«f fa^T : (*)

3TRW ifBeftXT TRt tteRT HlftXT
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f^WT 3 ~ : ?ESIT

(?)

(<kiiw=w) arant ^r! arsfa Md<*>  h! <£ffl arw
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VR’ftfi’lch^u] ^uqHiJ] ^2JO^T

tT& W-'Hd? HdlWd WdHIdl f^T TJTsIKT 1^R, W?T,

^cdl*̂  ^ZHT 4N*Md  Mte^ciuqiyiJ) ^en «

dPIcrMI. ^Td WdT dW, ^TTW W, Pd^4 Id WI.

W, ^Io3, y<r^y 3Wt. fWTg?TR

fcrarofsrfw^TdNWt anf&T WF3Rft rd^d?1<dl^l

3TO^. Midler wwrawp fW^T dluldulld, 

( O W dlcWId Wl :

(■zi)

WJgui :

?Rt- ?IW, WRf

■^ <dldd

di^l ^iK 7T, ^sffa <nlqcl

cincI

ddojzii an^rn, ■’ff^

■sjTfTfn^r

ZfaHTcftd, TTt^HKd

q<>0 ddodMWA <^«5ul^>U.

3. <aicdlct ydl^lwMI 3TTSnt ^cft^TT :

(3T)



NedA n<sii<^i IdRfi^ ihj^ i<A<A <5c+>didIvspt ui'j|

^n. ’

3TWf R^F ^F$a t RFR RRRF 3TOdH3 MR WR

MWt wdj 3RTRT 3Rt RTHefT WT HT?t. gWRT =F«fa RTRRTT

RTRHT WRT eR^ef 5WIHL d<dd>rdT ^feebtd

3tTw Hs^MI 3RJ Weft cR gwt ^«Tf c|ld|eRU|fa[ifdk[

w rrh fWRft wtt cfhr ’fas fsraRMt 3Tif^

’HIcfHlWii*! 3RJW^.

(3) cK«n <rl<sHRfldT3 aUd^iF 3WIR^TRfel^l- (3)

(3TT) OKrtlci^l cbhicqigl ^■Sdi : (^)

(*0  ‘^’^^^‘T^^ra^’RTRrarfRq^g^ReT-f^T.

(I) "ER ^oz|HH|x|| 3RJRT 'faw gipsR WRf RW RRT.

(cf) Rlcll^l fa*R4  chiqfd S^oftfaRfui *fR ”lHH dHw^erf gR^

ReftWl.

() 'Miggo^Wom WHi«iWwi«slgR>t SfJR^RRT odfadHerfA

^RTRSROT tRFR.

faWTX - dM4ir^id W3T [5!

(3T) (sHofld’Ul ^uivMI^ 5H :

( O ^dHl 4>IoM| ^l«<ld fo^T.

(3) cj^r.

( 3 ) 3J$4Kri ^<dHI ^MMqi-oqi ^[R ^RT.

(*)  ^RFrt 3Trf^T ^cd^lisi ^idlcn t^j.
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(3TT) cbNivqisI '?frgc|J ; ( ?0 )

( O HllWk^raTI T^-4) etfillteit ;

tiy'ia mledl..............<m^fcwi
 ..................  HlfBdlM’l'bM’l WR ^q^quf .................

■wfe ■qwft cf wnwfr wt^t ffew

(?) si^cimA Mci^cbdi we :

di<1y ^cd, wtrafWiTj^............sntq^vrae..............

sUHIsbHI^ dM^ci HifW 4*<rH  ............  3TWFT

^teHI-dl SUdW^dl.

( ? ) Q,<£iqyi oq^dWt ^ciUSd d^ll wlidl, % Oldltf 3TW1^

WS^RT :

Ustdl-cii y|<q............. wJ .'.......................................ytfUSd'l-dl

■q^j.................qw^fi <ricM'i<b"di wtn.

(x) m*i< <siidld ^qqqrcqi snmt ■(rMqi *<1  :

:<MldHI°R. 3TOTfcr <^cd^s( ............. oiirddfapluikH^ ^^9

  ytfUsIdld*  3UWfcf ................

  TJ^, f^FFT, Haf^T 4W STT^fer cjcd^<sl.

fer^nT 'a - oMiehTH cr

(3T) : (^°)

(O Cq) WIqqfq: (O

fqfVFTWTOT

cRltf <5<^IK|Sff silcd^i :

( O ?T PlRfl'I’W !

(3) fW7!^ IWq^!

(?) fafWliyR^ [dlstHl’T'J °hUI!

(x) fWw-TWH’l!

[?o]
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, (?)
(T) ufcOT:

(qqTO«ff WJW)

(?)
(?) (q) qqqqqfqfegJ:

/ ‘ qfdMrfl ’ qi WHlfa*  W 3TTS7^ fd^T.

(?) qqfwqqw

' (?)

(?) S^FftwWTO'

(X) ??pWR?

(?) ‘ Mle|^M|e|?ft’^ <0Hlfa<*  ?l«(ldkfBBRTT^HF*fa?T.  (?) .(

(?) (q) qfrq.Wq Piqsi: . ’ v (?)

‘qt qr qiqqrqfa qqtq sfts^rIwi:

(?) qxRtqqtq

(?) qqfqj-qqlq

(?) qiqwn

(x) qfwt wt

(?) ‘qrqq^’swq^qqq W’frfwr: (?)

(?) WTT 3TTqq qqqf

(?) qt■shR<i^qei'siqoo<ta"L

( ? ) ?T ?Kt?T WT Hl$)qcfai 3TW. z

(X) ^tqr^ldqw.

(x) 0*0  'Jsidtarrawt (?)

1cRfqfe^'gqf?ft!

q<l<H cbloqHtwldlcI 3T?WI? 3T|c3^q f^T?T.

(?) SrqRtvqw

(?) 3FFqq

(?) 37fa?|4|<R)

(X) STTfcft
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(I) 'WEZ Tjpf : (?)

1 ant Tjef;oft wwwt :

■qj qi=Wldlo1 ■dHHH 3j"W<sl|. ~

(^) (^) ‘ft^^’-qrail^xiHHi gftf {dlcrflrl 3jteqH

: (O

(?)

(?) wtw^rm

( 3 ) ^<dl '3VU1.

• (X) 3TRH ■wl*l< u')

(?) ’’TTcii-^iTrai'<w?ra <sh4Vi ^n. U)

(3TT) <SIrilQI<t>lulcqisl Tj°B7 [qqq|c(< ?°° ^'a0 TT^ra

iw :

(?) Iwi HT^TT ?T0T

(?) w3wsai

(3)

(X) sFI^PIUI

(•a) *-l5CVq
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DAY----  IS SEAT NUMBER

t/i ifif t &/” (0

J3^(^)

20 C/ly/lXz :

(7) (»—^0 “• 1 J^.
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(l)

1^/J JI (fy Ji

i>^ Ju c?£ u J/j^Z ifuy/ JlZzji c-.

(A ^/^J> VfeiJlA <W<L~ L-
** •* •♦

• » • ** f

-c-ftfrtL-yt

-U*  PL J/Zl ^j)\

Ms's JU W c^Uf J/

c/p*̂2^pZl t>f

^L 4—j In >-^4-' If

^y^^£-Xc/5vlf^j2<P2S

ijty z

\JJ^J U^c i^J'l^^ -bl/Z

• ijx t*yj/^ i>€ c/^ 4^

(J>yyj/ c/t (J"IjjI(^<L- (/ C-’lf (ji

(^i y(z if ^^4^ *̂-*̂4^  U*
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£ i/l 1<C

2— ^jb U-> lTK> cX & i c/'V

*? ■ V ~ ** •

l^<yts >(JJ^JJ

(2) (0

2~b<cL>Y^(i)

. . .....................

ifl- (U/l)

IF (-)

(J|^Iu> (&/)

ebl G)

. (iii)

(i—^0

(^)

(£/)

G)



 (iv)

G-J^O

(^)

jVtG^v (S/)

j5>^lP 6)

(7) (i—')
_<y

(2) <0

\%\/t

\jj) (JjLi
»f „ t • •• • i

uk-^u <y<^
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*Ji ^.A>< A ^-£- cAJAa'£ &1J?
lP$t~p(/yU ^A2& A  ̂AA fyA >-A?J>1 A0^ l2

A- oAAA\ A>zAA^ ^fAJ^A^ t-t i/k^

AlA^ tA A^yt^ kJ*  i7y Jrj7lk (?k

J As <l_ if JfxZl A \$2£& A

A A Jk^/y^XuktcC h-<U 'A^A ijUb c^j^A

jf Aj% Jl^x Jvt? (ji

jUy^/ £/5 J J (Jf JjX (//V **
A ^Abi Jti

^AAaJ^A^

y kicJ^: Akj^

(2) (r)

(i)

(3) (r)

(6)
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(2)

\J^*  lj? - Z~ £j}X t—>I j £ (jC^Z j y*\J  £ Jr^U? JI Z1 t/l

SiX^S-tL Z1 yl^ j>\ c&iL */&  {f'X&XjJb Z1

Z1 c^_ZL ^ZyJbJ J*l  u^bx/fyjl (JyUXlzZlZ^Zl ujZ

j4^ ji^uu^Zu-iZ/S^ ^cej
S-r^rZ t Z £~ Ik (XztZj^x^ >y/y \^yt IL^

I (J^jjy*  t uZ^ cA/^

^yj/ (/^Of TjjJiZ- tZ ^L (t^Zl u-X"Jjy^l/J'lz^ ^'X
'(/’ifr. /'^llfl L-lJj^l Jy~<!^pl

J)l b ^7 yi

o/b’^ i^lkl L- Jj Jl^> ? \jj>> c^G>j^

\j^) ^{jLs £~ •^•<l~j^}

j^U^C1'Xr‘***^  ^J)l l’ ‘ U^ ^>^/-L'^J'1

y i (jyyrii »y:’u>^U’i—y^rD t/>

jph j)i X1 ^^'‘t- trJ ^4

.^ijt Z^y^yli^^o}/2^
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(2)

(2)

_<^2Sy^"ll'-£--i>r’pbL^>!f(i)

(ii)

“c^< J>/rV’ (r)

16 -ifP / ! J*/  / :

(6) (uJll) -*  ijlr*
(2) (0

 •• : : ^ :/ (i)

............... : • • J> JrJ'1 • (ii)

   .’ (Jl?H : : \J7.S ■ (iii)

 : Jy^Zlu^/y : .' (iv)

(5az^ cA
J/

(A if l/1 }

UL f'1^

/ l£j >*  £-J♦ v .

■ ■

c(l/
if {^7
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£ 4- Zl/*/. £. :/_>

yt

SIJ-&c- <-j^ S&>

Jl ^'}

1i/i i—\j> i) yt&!Zy*

J(/I (Jl^

>4 J& (/i >J

{jt (Jlr J c^y y4

u^

t// lZ-’X

l^i; j <£ x/

(2) (^)

 (i)

(^) MO

(y) ^Jylj/*  (^/)

..... ... CD
(*-^O
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.....................................................
♦ ♦ ♦

(u>^0

(&>

(iii)

 7(^lf ty^yuT^u-^U’^^

(u-^0

^.^>/>^ (&)

c£^xLzUju|:>’ G)

(iv)

(2) (r)

(5-tz^ *<$-  y iA
u-^/y/j*  u//

(6) (|t/)

(2) (l)

(i)

j>) (ii)

cjiTlfJy^ (iii)

(iv)

c/

\jfi 4^li^ y j*y  tr'i
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(2)

(2)

<T~

Z # 1/ -

btl 4^ (Jjjjl

U^£~ (f>2C/*  <l£/

i/'ic (/ j>& <=- f
j?‘ j'JiU ~ jij

-*>->  (/ J/^4-

<=rk’ f <r- ui

J^‘ a£-iy
u^ C1-^ t^'<i_< (jxf

cZ^ /^ (X^

(r)

(i)

(ii)

f> i)’~ ‘ft

(^)(4)
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(2) 4JW/ (i)

^y y? fiA/ Jyy Uy

^yy^(ji/(/l

/Jly/r \J\ J JJjjS

<L-> *1 ]L f
4 V * •*

.^^^jLJ'fjk/^c/j^yy (0

^y y/Z^1 (Jjj Uy

•(6) Jy^i^y^^Z^^yy^l^u^^^tJyyL^y^yy (t-^0 -’ 3
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< Jb (JlJ>jl

l/^b’C^Lz^j4^/ i(jl^2^

&J^Lf't' <£j -j^

£- c4> *>-$ )> (/ ^>L Zl (JU * C^pX^C^

»-JlC>i^^^^ \j^\ obl^4>f C^

£if*c^  ^a1 <$ (Ji (/ ^/if'Ui 2-f

<?- iz ^L Z1 cji c^O^1♦ *

(/<L uA>?t>7 l/l? ^!/ eZji^i

tX’^/'tS/; cl- o lj tJ 'S'/iJ^'i^ L>

(ji lyCL- \J^\J^/l >}~iL-J I^yiJ^^^’l/cL-. i-^l LZ-l>J~l^r

Ju J!. L-\.j Jj'-yt tx (/j (^CL- J-J>\ tyi^CL- J^-CL-J

^”: Z dH J/: J

(2)

0 8 18

........................................ (i)

(^0
(^)
(^)
G)
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...... (ii)
♦

C*-^)
L? cTZ (&)

l^c/O^

(uJ^O

t/c^Wf'/ (&)

.......... (X^lf (iv)
(^D

5>

te^G^Ze/i/ (^)
r

-'4-J^^^.2Lj-}<C^ (f)

-Zu^y^r^x^i^r^^'^V” co

(a)
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(8)

(2)

(2)

(2)

(2)

GjM) -: 4 Jlr"

♦
b>X^4>^4 (•)w

(ii)

<0

(ii)

(i)

- C/^ij (/ t’/u^lJ'-’ ' (ii)

(r) I

^1

1^

t(Z<
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(6)

(2) (I)

&> (i)

- $M_b tfJj &» (ii)

tfJ^jfi J*b  j Lf(ji / if

1/ <L~ fJ J^yt (/ <L~ /i of^

(1) (0

j/Ut^ (/u^L lf^ (0

U^y*4^

(ii)

(3) (r)

c/*b  {y- Ji. w/t U (i)

(j( (Ji J^i
*-. *♦ ** •

ll <^l/'^l/ibJ<j7^c^J (ii)

IL f Ji’v ly^i otz ^yQu
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18 : *>>

(5) ^/^ZbZpb^^^^/Z/Z^T M) -: 5 >

-$-> DlrZ/Z. Z Qj/O ITJ-
(i)

(JjI> &Z b'/yj)^>Jb (ii)

p; (iii)

(iv)

fptZ> (v)

r1’^" o)
(ii)

(Hi)

(iv)

(5) (£/)

(4) G)
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DAY 02 SEAT NUMBER

( "■ ............

2024 II 22 HOP T Oft1 (H)--- J-OUZ --------

HINDI (04)

Time : 3 Hrs. (15 Pages) Max. Marks : 80
>/

^fdOfaehl

fen) ;

(?) ^77^'37jW’7^7; 7^ /W? <W fa fafaf d WWW

df SJifafat d ?t da1< Run'll faffa t1

(?) Wft SU^Ri^f d 3o7T fa&JI MUM tl

(X) <*//<*<«/  /^W d 'left fa fafaf df ~3tfaf (fa 3Jlfafaf fa 37W4q>>rf/ faf f /

fWRT - ( 3fcE-?o )

cpfcr (3T) AmRiRso h<o=m. ^ht3^tr cblRm,: (^)

®l4 3 TSTT^, Rt^T ’’ft

3PT ^T ^2 fcTC; STU^fa cR 3T?f

^7 ^isfa if CRJ i^5T *IT5{  11 Cl? ^’w Mt Mtt TRW M

fWf W^T t ?^T ^ft RiWf «ft ^T snfw?

u?q tut i
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Mt M tWrt Msrt tww

Mt°r srrfr Mi Mr Mite Mi rr hiM RusiiM ftwn Mt to

M Mt RR Mt wMt rMM ^ifgcq RRRR7 RR RlMt "RR11

SH^tR cbM^ *1  3RRt RRR RRH'M RR^rMriM <9ltfl faddl RR

RTRT RTR1 3TRR HTR Mt RTsfRRTT M (MR. RRT RRH RR WTO RR TRT 2JT I

rk 3fl<ri)eh<^d, ^-^(Mri rr, (i^mt M fMw 3wr

afk wn Mt t^wrar ^icMl^i mr ^sjt «n i snM ^fcr M

from 'Mt 3wr sMWi ^t ■gram f^rr wfc f i srfirfM *ft

^MT RR f^TR ^R 3 TRT 'EFST ^<l<cb< iRTWI 3TR. 3fa Mtft-

■c||<^< 'sft J>£5 "SRM"ftRI ■Hcbl; d<2ri RZ [s|tSI=t>< <5^ MRlfed fchdl I

RRf cRt WTi M Rd ^F=tf H^ldlcO 3fR M ^Ri

RRH-RiRI, R^T ^TRT H?t RR RRtt 'jm *ft  RR RH M ^dl*<  'R "5F

RR% Rf0 TO RH WRR KRT H I

MrT 3RRTO RH RRft RRT RR t S^RRT^-qfERFR WR RFt-Mt

rt RjRTfetf, Mfer Mt srrfM r®rt Mt i srftrfM w t, r? M

WTHH^tt I

(O RWfRttfMv: (?)
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( ? ) fdHR-lfisId ?T^f MRx J ?RTHT«fl ?FR ^R7?

fcrffisu,: ( ? )

(O ^IH -> --------------

(?) WfT —> --------------

(?) wr -> --------------

(■X) Rtw > --------------

(?) *3TTfcfKZf  w’RW?RR7Rt/^RfRRqq? 3mfM^7<o

Ko ^’3 fcrifism.I (?)

( 3TT) PiHRdida 4<ocb< ^=ni % 3ijyi< <j>fddiTjyf : ( E,)

srw ffar t wtte 3ft? w?tt ?rr -wt RwhM i

4'i<=bdl t, fa? cfifa?f ■q^ WT t 3ft? R4 W?7T RR «pj t

WT 3ft? dldld?^ Mf RI RTdt f ^HRdl I

RR 3?Mt (Rd ^WR7 3ft? ?R4 ^7 ^Tt VeRT ^1T ?RT «TT, 3RR7T

R7?d7f ^34^1? ‘‘ t, RTfalRT? t, RTdR Rgt, Mt

w?nt, fafa?t, awnri, Wr#, ?nt i

t, RR R7T 3RRT11 =?? WI R^fra t, wfa t, RT 3Wi R7t

RT ychdl t? 3ft? RR <sy*l  RRT RIcH t,

t, WRTRRTR^Ht, R? 11”

RRT ^rRT RBRIWT t,3rfW-R-3rfW RR7 Tfnft ipT

^wi wt t, cftn Whrt w t i rc 3Rf rwt wt

?JRW 3 H?t; WdTi <ri)ch)<d'<dl 3 WH TRdT t, RRR

R<f, ^T-^-^T ■3?&ff Sftl R-'RddT^if ^7 3 7JZT f I

3R7 ?JWf7 ^7 f WRf7 3fr< Rfe 3fl? RRT ^7 TRI 3ft?

RFR IRR ?JWf7 3ft? RR^7 RRT W5RT ijjt ?R? 75nnt 11

RTq R7T^TR?5f 3|did A 3T5RI t' 3ft? dti'HH Mt 3|^i|

ts I R?H ^7R «chdi t? ^RjMi R7RT ^chl 37^-Mdl <aTsd

R7??rM7TnRTRFf?
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( O •W'Jllci 'blfan :

(3) RnfriRsM^7fho;Tqw3snqRraVivr^

■fufcir :

(?) 5°” .- I I

(?) - ------------------  

(?) 3W7 

(X) *FT

(?)

fafeni (?)

(■?) Pl*-ticifiad  MA?H1 '5aR?TrT’Tn do ?oo '^T^T Rrtfey, (37^ ^) : (^)

(?) ‘^■^WWtcT^T^r^T’JSTTdt’, ^Rf^TRqTtPT’S cblfau.1

(?) ‘■gnt fe?Ttft’ W ^7 37TW TR ^fe-TTTRT W ^7 «d

3 Afe<fcl ^7 [cfc||< I -

(?) 3?)^’1'1 mid ^7 f^flT -f^HT TJIT TRURf

^7T 3 Rnfey, l
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(t) faHlclRsia HcW 3TR HH RIH c||cK| ft’ HoR fafeTT (H^ <ft): (3)

(?) Hit'ft^SH HRTO nft 3flft R5RI I

(?) ftft3n?n<ift^ftfrrfttnrTHHiftf%

HR Rifisl<l

(3) HnafnRinnfkwmtfkfeki
I .

O) ‘cblonRl’ Cbsi-fl ftllkft 3ig^l<*  HU HR ftTfe«, I

f^TPT - ?. -q^T ( 3JeE-fto )

gftft ? (3T) lHHftTf^'qnWHRHR?^ftl3igR?gifn^gftnftftR : (^)

Rfti W nftr nfft mft,

RRT ¥fR Hlft RR?

Hi? q-.m mftfng, AtellR.,

■jfe kng HNnft,

foTJg HR RTWfcTJg,

kRg3RIH MR|c(|< 11

HH t srf^fnfk 7JUT Rift I

ftlH ft^ ng HR H ftRft RH ftRRl RHlft I

rMh-rW ftrnpft, gRft-grfn rrVj i

Rnft ng hit ht^t rw rVj i

■5^5® ftrg ?r nft nft ftig RHfti 11

(?) wwiW: (?)

(<) °bl <ndlch< faticM <M*1l^

(?) 4>PM «HHI t, TRft ng <?!h

(1}) RRR ft- l?ft <+>1 HR H ■*iyiA  dA

(*)  Mg HR nnWlHR 3$ T|f^

0 8 0 2 Page 5 P.T.O



<g€ct>< Inf^TT ; ( 3 )

(U --------------------------------—

(x) WT -----------------------------------

( ? ) 1’1'4’i-------------------------------------

(*)  w -------------------------------------

(?) AbT fW XR 3#t fMW Xo it M VT^f

M Ww G)

( 3TT) fdHRdfed M^l>l x^eR^rRT^ 3^R^RT dQ^q; : (^)

WTT ^Wf yj^i w

MtHRt^f^^r

wra, ?fth ■qr w

foly, '^dl <l'lJlid

3ilidd,|<^ 3CT3f cHT

^gsf^-WI, f^T-TRT

?^VTT ^TT 3W t ^T Tn«T

^>fsr cfi)ft^TT chiiM, Wl^l

WH^TT W*H

sW fciu,

31 Hd

KH 'SWT' =st

vra i^fr ttsf Mt H?f ^ira 11

(R)
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( ? ) Pl*-lfaRsid  ?'TO ^7333 Pdfen : ( ^ )

(?) sftmfUii-----------------—----------

(?) —-------------------------

(?) ------------------------------

(*) ------------------------------

(?) ‘‘^Wn3Wt’’^3'f333 3T3T3ft’f3TO:3o i^o TO''

ft’ fafau.1 (?)

(■?) PlHkdfart ■g^f ft73TW3V TO TO TO TO 33 TO ’37f3dl 37T

TOTOTO 3ftfal? : ■ (^ )

(?) 3337373 33 313 (?)

(?) 333 3333337 (?)

(?) 3TO373 37 37TTO (?)

(3) 37f33T3ftft73t33TO3I (?)

37 TOT

‘ ‘ TO "3jg WqH ^7 ^7T sgqcf “kRTnl f, ’ ’ 37 3HW

3? *̂gt?lfe3T, ’ 37fTO37TTOTOlTO 3?lRm, I

(^) AnfaRaa M <^1 3333713733T 3^73133^'~5?rR felfelM, (37t^ 3t) : (?)

(?) -3^31 ^73TW Rrifeu, -

(?) 31<3 gW3> 3 ^‘7(3 3ft’ 37t fWf TTOTkff 37 TO TOferj. -

(?) ITTOf ipfl TOT 37T <^3^3 37T°3 337R |t-

(X) 3?) 3>J n d I 3t 337R fa LT -
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fWr - 3. fer^hr stwh ()

( 3T ) twfclfecT WI Tff^pn -q^ ^ert 3TJHR ^fcPH : (^)

3TI^ |TT

cb^tsl

WnTR ^crar TF^T, Wi

MJd TT? it®ft <M|c|<l

STFST^HTT^H ?fte

d'Jl-S'gTT'j^T

anchi^i TR^rt ft

W ■Zfi? ®RH I?t

BWOTW3

■^gut ^fr 3idi<5 sr^iIRbil ^'ti'4,

■^3 HFT^^n^f!

3TT5f <WR«T SToTH $<!*<  ?t ^TF=R1!

fe Ml A hH 3ii^d ^i< I

( ) ■EfiKq ftrfw< : (?)

( O TT^TT =Ft 'OT 7lf$ HT % Rr1H *51  -

(?) -

(?) ^fer Fhctih *lP>m, : (?)

(O WUII^FJ

(?) «4|c|(l ■W

(?) ^cf<n

w 3TT^?T
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(3) “"gnft'3^5nrfwfARiR5'<”THfAwcR

Arar? XoftRoftArfegi (?)

(37T) AHRdFdd A'AfArA)^^^ ocRHFFT^o ft ?oo

W’f ft fftfeg : ( X )

( ? ) “ chRl ft TTRIft;TFTWTq if c^HH Hg^M rA Afef c-ddd Rb-MI

A, ” TH rA W RARdU, |

(?) “ZRTTftRRH d-H’MdI ft; %TW'ft' ^cfcRftftH eftRTsfedlRlA

t, ’ ’ th htr rAAr i

fampr - x. <*JN£iftcb  f^t, 3Prfa?r tr?
MlR^HltMcb yic^ldcft (3T37-?o)

(3J) RdHRdfed RTRRRRFFT ^oo ft ??o ?T^fftAlW : (^)

(?) “ft°TTTffsfilldl ft «<<ocb<’’ TH dR+d R?T HCVldd ctRAlM, I

3JgraT

qR-i4)< stjfr grfcnf gyf ;

“ ?jr rRttrh goqd: Aft rr>r t- wrafcr ^AstiH

^T ?JT H4FH, %g ftdrad, WtT %gHdlcFT,

IMdlfa*,  HIHlAt-^ W WgrRi^T *l4sbHf ^Aldd I"

• ?IWcftq gcf <MdlA*  =hl4shF^TTft^ldd :

^ll^cftq <i<5|4IA*  'HHlftr At^J5f 4didd ft’ WWfd

cFT ^T WI WTT R^n f I R^f At 3T3RR Hlftf eft 'H’THt

11 RTRcbi-'fATRAr tt«A wfh ^trtt t; TH^rt AArt ^hfA

11 TH wr ^tt rjr #en?H rrA rrr 3tA sn-fchifto

rw At tfAr ft wr Rifei? i
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• cT«JT tfe4 *i4* h gn <14IclH :

^mr <fe4 m wrrer fans ^4 ri4 *i4*w<n<l^

w\y[ viUchKl 44 tii^is | *t4* h 4t «7Bdi fausi*<  ?ni<

■*<-11  unfair I B^fav TRrll^ *7]4*H  5TRR *<HT  4feR OTk 4t-

sfft w*r  fa*w  ^pn ■snflns i w *r  wkr *r4ftr 4k

fa^n « Zifa's i fHcf>di 4k fafapf <44 *n  <ihA?i

■*l4st)H  4 RR fafa cIR 11

wr <t-^R 4w rr 4k wi4f 4 4r

■*<dl  11 ^5f 4-qiei-i ^npj ifa<S?rT, <<51*711,  fafa^wfa’^T

*cii ajic^qcb ffpn f | ■*pfarn/<HRfa  4 rw rtht

*r *fawju[  *fa  ?kn 11 *?4*  m 4 srjprR 7j5f

<4 amr wr 4k ^kft 4 4wfa *w  ^ifars; ^4 4ktf rtrrt

^r *i4* h ft 4 wjyf tje? wiw <*r  5fakr afafaRi t

4 oqiom-i 37KRn ^riiR*  wisM 4 <44 4 wr <i4*  vr4f

^J| 3011 <jr 4-eiiei'i *4  <W7 w*  w4 <f4 rt4

44 f; «7*I  4 4ZIH WR I

(O ^Vf4tf4s:

4'clld’i 4 4Ps< WR :

(O

(?)

(?) R^Tfarf 4‘^’v?RR?4^?T^^4fRf4fek ;

(O ----------------- ------------------------

(?) ---------------- - -----------------------

(?) 

. (X) --------------- -
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^<^0 Vl^f 3 3F-H fERR fafau. i (?)

( 3TT ) A *~d  fa fa d Rb-Ul Tffi"3iT 3rd<. 60^00 ^fai fafau, : (X)

(?) 4,1-d< A<sld =h<d TT-TR r-Kdi 'JlA ^ifa VT M*l?l  -SlfaU, I

(?) M*l?l  W^<=lfa '414f^t ^lA*  3f«ZFFf^t^fe  ̂'3fH^T(t

3T«rar

W) facf/eM fW wpff cAfau. :

(?) wttw---------frqtWw 1 (?)

(?) whw

(?) Iwrwrar

(?) d4i 'ST^Mdl

(x) wowrai

(?) 3TRqfW^ftA---------tfefl

■^ntwT^fi (?)

(?) ?\3^f (?) ?q^I

(?) ??^m (X) ?V9^

(?) WH A ^TFT ^7 ferr---------WT f^TT 8CT I (?)

(?) Website
(?) Weblog
(?) Webseries
(x) Web-portal

(x) vrffcddd-i on?n y*̂i ---------^"^rrn

wr 11 . (?)

(?) 3ff«Hl*<U|  (?) *I<W<MU|

(?) s(4fa<ui (*)  wita
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(?) fti-iRdfisId 3Flfte '1^1 f RlM ??! *lftte  : ( )

tec RRR M TT'sltl R%M? «J5t^Rl MR ^ift R? P MRT % I

tetewMi^teitei^wte^^*' 0 IP

MSTf iteRMRtRMT Mte W?MK ft^^tet; 37^

WH M Mtel Mt teRM I

■qM ft ten m? Mt after ^ctex^ <t><l'S Rt><rilHte% i m? R? rte

tete RbRlMte Mt after ter Mt Mte 30 tef 3 mt rm

RMTR RHETT 11 3RT: V teR MT Mtf RRT 3TRp <W TRM

■qftel, <tr te R? M 3FRJR ^tet te ^rfttefr cfh WI!

Ttet ^f Tt tete -^te? fwtete 11 Ipn 3 vrPr

n? 3^r teW 11 ^cter % fter aifgf Mt snwr 3

V^HI te B^kTT 11 Tjrft ^TR ^7 teff H RH MR U? Mt

mmith fterr sir i Mi-Mid mtr Rift Ml’ Mt ^f, "te Mr mtmtIrm

3RTTM fte MR Wf MT RH M Rte' Vlft Rtet RtfUM

^Ml:

VTfRMt‘^Aw<’ Mt MMt 11 3WR| R Wf M te W R|R

Mte ter 3 rrrtt tesr^ t, itep Mter mtr 3? tent M ter

tel:te ter ten m i 'tet: te mt ate ten t - Mte ter Mt Rte

MIRT l’

te) dlPRchi Tjaf tefte; : (^)
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(?) q^r|M6b< Rdfair : (?)

( O --------------------------------------------

(?) - ------------------------------------------

(?) ^------------------------------------------—

• (*)  RFWT - ------------------------ -------------------

fafeiJ, i (?)

(t) : (X)

(0 Ambassador

(?) Bond

(?) Balance

(x) Paid Up

(b) Speed

(^) Meteorology

(^) Output

(6) Integrated Circuit

fWwr - <A. on I CM u I ( 3i^>-^o )

^fcm (ar) +)><j=hqRcrd-i
(e^ 5p ; (?)

(0 -q®-Ri<sich< ■ficbd *<}  ow i

('T^U'1*1^)
(?) <JHcbT ^RT f^T ^3{T WTT UHI^I TRT I

(WHIR ^fqw4*ld)
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(3ixjof cjdHHchM)

(V) ?T«J RTRRR RSI flRT I

(^IHHI ’JWffi)

( 3TT ) Pmfolfisld mRr41 3RKRT + Mg’dld'dR<5RR> RTH

(R^Rt):

(?) RR), RR f&Rdtf «?T HR> <5^13 ^RRTI

(?)

WRT ^ff 3rf?RT RR^’ RTdRRT-RRrfW vt 11

(?) WR3Tt?RfaRRWWIWl

Rd) dl old A $<rl RT, R ici M H<dl RRRf 11

(*)  RRT^tWlRT^f, RTRR^Rf RTRI

fRdSfa <R), RTRR-Rfa3RTR 11

(?) pRdfclfeld RfRRRf 3 RT ^HdR '3d^ d W Rdfao; (^ ^t) : ( ? )

(O r^-'^frH'wri

\fafac£ RT^-fRRRcTR^i

(?) f?RTR^3)RHR, 3TTfe?t357aRT

<Rf? ftlRR 3{faf? 3TFk W I

■pJ^R 'dPd ^7 RRT 7313, d-dKd 'fl

(?) RR RR Id5 l<fd 'dldcbl, 4>*d  Rd HR R>t 'RtSlgi,

RRIR^ ■gfl[ ■gfR R^, RR tfc Rft Rod ?TRT HI?) I

(X) RT^RTtgRRR^, ^RRT^R)tl

RR^ fcR ^RI 3RRJR, 4 ff^ft R)t 11
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(R)
( R ) RH RWHI I

(R) ■'FHh^r^fari
(3) RTO RR RTO? sTSHl I

(*)  RRTHRHTI

(^) fanfaf^RTR^R^^RRR^RTRqfe3faf^(R  ̂tP: (^)

( R ) RR? o^fcsra RRH Rft RTRt RRTR Pi^ci R?T t I

(R) cnYil ^<31 3TR ^<H Rj? 'I'M! I'

(3) dlMHH RR «Rt iRW RR^

RTRI ^IIR Rt3TTRtfl

( X ) 4 R»|cH!ii % feR Roft RRTI
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J
Important instructions :
(1) Each activity has to be answered in complete sentence/s. One word answers will

not be given complete credit. Just the correct activity number written in cas.e of
options will not be given credit.

(2) Web diagrams, flow charts, tables etc. are to be presented exactly as they are
with answers. \

(3) In point 2 above, just words without the presentation of the activity format/design,
will not be given credit. Use of colour pencils/pens etc. is not allowed. (Only
blue/black pens are allowed.)

(4) Multiple answers to the same activity will be treated as wrong and will not be
given any credit.

■ (5) Maintain the sequence of the Sections/Question Nos./Activities throughout the
activity sheet.

SECTION - I : PROSE

(Reading for Comprehension, Language Study,
Summary and Mind Mapping)

Q. 1. (A) Read the extract and complete the activities given below: (12) [16]
This is what Camus meant when he said that “what

gives value to travel is fear” — disruption, in other words,
(or emancipation) from circumstance, and all the habits
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behind which .we hide. And that is why many of us travel not
in search of answers, but of better questions. I, like many
people, tend to ask questions of the places I visit, and relish
most the ones that ask the most searching questions back
of me: “The ideal travel book,” Christopher Isherwood once
said, “ should be perhaps a little like a crime story in which
you’re in search of something.” And it’s the best kind of
something, I would add, if it’s one that you can never quite
find.

I remember, in fact, after my first trips to Southeast
Asia, more than a decade ago, how I would come back to
my apartment in New York, and lie in my bed, kept up by
something more than jet lag, playing back, in my memory,
over and over, all that I had experienced, and paging wistfully
through my photographs and reading and re-reading my
diaries, as if to extract some mystery from them. Anyone
witnessing this strange scene would have drawn the right
conclusion : I was in love.

When we go abroad is that we are objects of scrutiny
as much as the people we scrutinize, and we are being
consumed by the cultures we consume, as much on the
road as when we are at home. At the- very least, we are
objects of speculation (and even desire) who can seem as
exotic to the people around us as they do to us.

.. All, in that sense, believed in “being moved” as one of
the points of taking trips, and “being transported” by private
as well as public means; all saw that “ecstasy” (“ex-stasis”)
tells us that our highest moments come when we’re not 
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stationary, and that epiphany can follow movement as much
as it precipitates it.

Al. Read and rewrite the following sentences and state
whether they are True or False : (2)
(a) A traveller may sink in love with his travel­

memoirs.
(b) One gets inspected as he inspects the world

around him.
(c) Quest for something may end in more mystery.
(d) Staying in comfort at home gives one more

happiness than travelling.

A2. Match the persons given in column 4 A’with opinions/
characteristics given in column ‘B’: (2)

Column ‘A’ Column ‘B’
(1) Narrator

(2) Camus

(3) Isherwood

(4) Traveller

a) ideal travel should be
like a crime story.

b) in love with his
memoirs.

c) more happy when on
move.

d) fear gives value to
travel.

A3. Give reasons: (2)
“We are objects of scrutiny,” because .

(0 ________ :_____
(ii)  __

A4. “Travelling is an interesting teacher.” Write your views (2)
in 3-4 sentences.
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A5. Do as directed : (2)

(i) I like to ask questions of the places I visit.

(Choose the correct tense form of the above
sentence from the following options and rewrite.)

(a) Simple past tense

(b) Simple present tense

(c) Past perfect tense
(d) Present perfect tense

(ii) I would come back to my apartment in New York.
(Choose the correct option using ‘used to’ for the given
sentence and rewrite.)

(a) I use to come back to my apartment in New
York.

(b) I have used to come back to my apartment
in New York.

(c) I used to come back to my apartment i n New
York.

(d) I had used to come back to my apartment in
New York.

A6. Find out the words from passage which mean : (2) ■
(i) reminiscence

(ii) exhilaration

Bl. Language study— . ' (4)

Do as directed : 

(1) Avneesh said, “Sanchit, what are you doing in the
garden at this time?”

(Identify and rewrite the correct ‘indirect narration’
from the following options.)
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(i) Avneesh asked Sanchit what he was doing in the
garden at that time.

(ii) Avneesh wanted to know from Sanchit his cause
of being there in the garden.

(iii) Avneesh asked Sanchit whether he was present in
the garden at that time.

(iv) Avneesh asked Sanchit whether he was doing in
the garden at that time.

(2) Neeraj Chopra may not participate in the world (1)
championship due to ankle injury.
(Choose the correct option from the following
sentences which uses a more definite modal auxiliary.)

(i) Neeraj Chopra cannot participate in the world
championship due to ankle injury.

(ii) Neeraj Chopra will not participate in the world
championship due to ankle injury.

(iii) Neeraj Chopra should not participate in the world
championship due to ankle injury.

(iv) Neeraj Chopra might not participate in the world
championship due to ankle injury.

(3) Unless you are confident, you will not succeed. (1)
(Choose the correct option from the following options
to change the sentence beginning with ‘If.....’)
(i) If you are confidence you will get success.
(ii) If you have confidence you will get success.
(iii) If you are confident you will not get success.
(iv) If you are not confident you will get success.
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B2. Spot the error and rewrite correct sentence :
He prescribe medicine alongwith a few exercises to his
patients.

Q. 2. (A) Read the following extract and complete the activities
given below:

Love is a great force in private life; it is indeed the
greatest of all things; but love in public affairs does not
work. It has been tried again and again; by the people of the
Middle Ages, and also by the French Revolution, a secular
movement which reasserted the Brotherhood of Man. And
it has always failed. The idea that nations should love one
another, or that business concerns or marketing boards
should love one another or that a man in Portugal should
love a man in Peru of whom he has never heard — it is
absurd, unreal, dangerous. ‘Love is what is needed,’ we
chant, and then sit back and the world goes on as before.
The fact is we can only love what we know personally. And
we cannot know much. In public affairs, in the rebuilding of
civilization, something much less dramatic and emotional is
needed, namely tolerance. Tolerance is a very dull virtue. It
is boring. It is negative. It merely means putting up with
people, being able to stand things. No one has ever written

. an ode to tolerance, or raised a statute to her. Yet this is the
quality which will be most needed after the war. This is the
sound state of mind which we are looking for. This is the
only force which will enable different races and classes and
interests to settle down together to the work of
reconstruction.

The world is very foil of people— appallingly foil; it
has never been so foil before, and they are all tumbling over

0 8 0 1

(1)

(12)[18]

f

Page 6



each other. Most of these people one doesn’t know and
some of them one doesn’t like. Well, what is one to do? If
you don’t like people, put up with them as well as you can.
Don’t try to love them; you can’t. But try to tolerate them.
On the basis of that tolerance a civilized future may be built.
Certainly I can see no other foundation for the post-war
world.

Al. Choose two correct alternatives which define the theme
of the extract: (2)

(i) Love is a greater force in private as well as in
public affairs.

(ii) To rebuild civilization we need tolerance more than
love.

(iii) Patience is the solution in any sort of confrontation.

(iv) When you do not like people, nations or
civilizations, you need to love them to change them.

A2. Complete the following table with the help of the
extract: (2)

Give one merit and one demerit of ‘Love’ and
‘Patience.’

Love (i) ___________ ■■------ -  .

(ii) -------- :-------------- ------------ ----------

Patience (i) -------------------------- :----------------- •

(ii) ----------------------------------------------

A3. Write how we can build up a civilized society; with the
help of the extract. (2)

A4. ‘Love and tolerance are the true indicators of a (2)
civilized person.’Justify.

0 8 0 1 Page 7 P.T.O



A5. Do as directed :
(i) It has been tried again and again.

(Identify the correct Active Voice of the above

sentence from the given options and rewrite.)

(a) They had tried it again and again.

(b) They has tried it again and again.

(c) They tried it again and again.

(d) They have tried it again and again.

(ii) It is the sound state of mind which we are looking
for.
(Identify the correct simple sentence from the
given options and rewrite.)

(a) It is the sound state of mind and we are
looking for it.

(b) We are looking for the sound state of mind.

(c) We are looking for it but it is the sound state
of mind.

(d) The sound state of mind is looked for.

A6. Match the words in column 4 A’ with their meanings in
column 4B’.

Column ‘A’ Column ‘B’

(i) Secular

(ii) Absurd

(a) feeling of great friendship
and understanding between
people.

(b) a society which has its own

highly developed culture
and ways of life.
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(iii) Civilization (C) not connected with any
religion.

(iv) Brotherhood (d) not at all logical or sensible.

(B) Summarising: (3)

Write a ‘summary’ of the above extract by using the following
points.

(Love as a force — its limitations — tolerance — need of
tolerance)

(C) Mind Mapping : (3)
Prepare a mind map on ‘Effects of Music on Human Life’
using your ideas/thoughts/concepts to illustrate.

SECTION - II : POETRY
(Poetry and Appreciation)

Q. 3. (A) Read the extract and complete the activities given below: (10) [14]

She walks in beauty, like the night
Of cloudless climes and starry skies;
And all that’s best of dark and bright
Meet in her aspect and her eyes;
Thus mellowed to that tender light
Which heaven to gaudy day denies.

One shade the more, one ray the less,
Had half impaired the nameless grace
Which waves in every raven tress,
Or softly lightens o’er her face;
Where thoughts serenely sweet express,
How pure, how dear their dwelling-place.

And on that cheek, and o’er that brow,
So soft, so calm, yet eloquent,
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(b)

(2)

(2)
A4.

(2)

0 8 0 1

(c)

(d)

A2. Complete the following web describing the various
aspects of the lady’s beauty. One is done for you at
the centre place.

Write your idea of a beautiful person’ in your own
words.

Find out and explain an example of‘Antithesis’ from
the given extract.

The smiles that win, the tints that glow,
But tell of days in goodness spent,
A mind at peace with all below,
A heart whose love is innocent!

Al. Select and write the two statements from the given list

which justify the theme of the poem.

(a)

(2)

The poet is blunt and direct in his expression of

love.
Internal beauty is as important as the external
beauty.
The poet is in love with lady’s outward beauty.

Beauty lies in the eyes of beholder.

A3.
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A5. Compose a poem of your own in about 2 to 4 lines on
the topic‘Beauty’. (2)

(B) Appreciation: (4)
Read the extract and write the appreciation of the poem :

They hear no sound, the swell is strong;
Though the wind hath fallen they drift along,
Till the vessel strikes with a shivering shock,-
4O Christ! it is the Inchcape Rock!’

Sir Ralph the Rover tore his hair;
He curst himself in his despair;
The waves rush in every side,
The ship is sinking beneath the tide.

But even in his dying fear
One dreadful sound could the Rover hear,
A sound as if with the Inchcape Bell,
The Devil below was ringing his knell.

SECTION-III
(Writing Skills)

Q. 4. Complete the activities as per the instructions given below: [16]

(A) Attempt ‘Any One’ of the following activities: (4)
Drafting a Virtual message:
(i) Manisha, a graduate girl, misses her college bus. Her

father has gone for his regular morning walk. She needs
his bike to appear for her entrance test. Draft a virtual
message in about 50 words that she would write to her
father.

OR
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Statement of Purpose :
(ii) Imagine, after your HSC, you wish to pursue a degr

in ‘Bachelors in Communication Skills, in a.reputed

university in India or abroad.
Prepare a ‘statement of purpose (SOP) in about

150 words which will help you to get admission in your

dream university.
OR

Group Discussion :
■ (iii) Imagine, your class has attended a guest lecture on

“Career Development.” Write the group discussion in
the form of dialogues associated with this lecture among
3 to 4 student participants.

(B) Attempt ‘Any One’ of the following activities : (4)
E-mail:
(i) Draft an E-mail to the manager of a company to request

him/her to give you an opportunity as an apprentice to
serve you as an experience for your career development.

OR
Report Writing:
(ii) Imagine your class attended a session on “How to

win?” conducted by an expert speaker. Write a report
on the session especially the relevant points in about
150 words.

OR
Interview:
(iii) Imagine you have to conduct an interview of a ‘Famous

Actor.’ With the help of the format given below, draft
questions on the given fields. (Do not change the
sequence of the questions.)
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Name of the interviewee :
Field/Reputation
Date / Venue / Time
Duration of Interview

Questions
Questions based on :
(1) Motivation
(2) Initial Preparation
(3) Support
(4) Idols / Gurus / Teachers
(5) First Break
(6) Public response
(7) Recognition
(8) Goals / Dreams

(C) Attempt‘Any One’of the following activities : (4)
Speech :
(i) Imagine you are preparing for an elocution competition

and you wish to speak on the topic ‘Green Revolution. ’
Draft a speech in about 150 words on the given

topic.
OR

Compering:
(ii) Imagine you are given the responsibility to ‘compere’

a programme by your college authorities. You need to
prepare your script on the programme titled ‘Cultural
Fest 2024.’ Draft the script to decide the flow of the
programme. You may take help of the given points.

— Prayer
— Lighting of the lamp
— Introduction
— Felicitation
— Cultural Fest Programme
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— Speech of the Chief Guest
— Presidential address
— Prize distribution
— Vote of thanks

OR

Expansion of Idea:
(iii) Expand the following idea with the help of the points

given bel ow (100 to 15 0 words):
‘Manners Maketh Man’
Essential Virtues
— Politeness
— Speech, tone, gestures and action
— To be courteous and amiable

(D) Attempt ‘Any One’ of the following.activities : (4)
Review:
(i) You have recently read a famous book/magazine. Write

a ‘Review’ on the same with the help of the following
points :
— title, frontpage, backpage
— language, features, contents
— Pictures, quality, presentation
— Values, vision and variety

OR
. Blog:

(ii) . Write a ‘Blog’ in a proper format on ‘Body Language’
with the help of the following points (100 to 150 words):

Meaning and features.
• Characteristics and scope
• Benefits / Importance
• Uses / Ways to utilize

OR
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Appeal:
(iii) Prepare an ‘Appeal’ on the topic ‘Traffic Rules for

Safety Measures’ with the help of the following points
(100 to 150 words):
• Ignorance and lack of knowledge and information
• Purpose / need of obeyance
• Avoid accidents / need of society
• Discipline

SECTION - IV
(LITERARY GENRE - NOVEL)

Q. 5. (A) Complete the activities given below as per the instructions : (4) [16]

(i) Match the columns : (2)
Column ‘A’ Column ‘B’ .

(1) Novel (a) Greek Romances
(2) 18th Century (b) Middle class readers

Literature
(3) 2nd to 6th Century (c) A long narrative fiction
(4) Newspapers and (d) Spirit of Realism

magazines

(ii) Choose the correct alternatives and rewrite the
sentences: (2)

(a) The novel that bears more than one level of
meaning is called novel.
[ Realistic / Allegorical / Historical ]

(b) novel is concerned with the protagonist’s
overall growth from childhood to adulthood.
[ Bildungsroman / Utopian / Gothic ]

(c) novel is a novel based on the author’s life.
[ Epistolary / Psychological / Autobiographical ]
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(d) The novel based on an imaginary community
possessing the ideal qualities is called ' novel.
[ Utopian I Epistolary / Picaresque ]

(B) Answer in about 50 words to the questions given below : (4)
(i) Write a character-sketch of the narrator E.R. Braithwaite

in cTo Sir With Love’. (2)
(ii) Consider ‘student-teacher relationship’ as one of the

themes of ‘To Sir With Love’.' (2)

(C) Answer in about 50 words to the questions given below : (4)
(i) Appreciate Phileas Fogg as the protagonist of‘Around

the World in Eighty Days.’ (2)
(ii) The most interesting part of the extract ‘Around the

World in Eighty Days’ is its climax. Discuss. • (2)

(D) Answer in about 50 words to the questions given below: (4)
(i) Mary Morstan encourages Dr. Watson to get involved

in her case. Justify the statement with reference to ‘The
Sign of Four.’. (2)

(ii) Write the importance of various places such as
‘Holmes’ residence, Lyceum Theatre and unknown
destination with reference to ‘The Sign of Four.’ (2)
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